Aluminum Pull

UAP s=sns

UAP-8

A

- <

fi‘ .

I 1 i . |
I il = 2 il
D L1

® M. REE

0 RoHS

UAP-AL*'  UAP-BK / UAP-SG / UAP-RD *1

. mae =8
T IREAATE B BER (&HER)
. SEHE  SEGH

- @
P I Skt
(BLHEERS) SUSXM7 SUSXM7

*1: THHRE,

BS A L1 D H

UAP-8-55 8 55 12 35
UAP-8-64 8 64 12 35
UAP-8-88 8 88 12 35
UAP-8-96 8 96 12 35
UAP-8-100 8 100 12 35
UAP-8-120 | 8 120 12 35
UAP-8-128 | 8 128 12 35
UAP-10-88 10 88 15 43
UAP-10-100 | 10 100 15 43
UAP-10-120 10 120 15 43
UAP-10-180 10 180 15 43
UAP-10-200 | 10 200 15 43
UAP-10-235 10 235 15 43
UAP-12-125 12 125 - 51
UAP-12-160 |12 160 - 51
UAP-12-200 | 12 200 - 51
UAP-12-250 12 250 - 51
UAP-16-160 16 160 - 59
UAP-16-200 16 200 - 59
UAP-16-250 16 250 - 59
UAP-16-300 16 300 - 59

*1: FRANKNATEA.

7" TRikF - TR ELE = P.xxxx
AT [

N NBK

0512-5290-1560

27
27
27
27
27
27
27
33
33
33
33
33
33
39
39
39
39
43
43
43
43

P

Lf

L1

ﬁL W
HH
L Lf
67 9
76 9
100 9
108 9
112 9
132 9
140 9
103 13
115 13
18 13
195 13
215 13
250 13
137 13
172 13
212 13
262 13
176 13
216 13
266 13
316 13
& BHZIED = Pooocx

IR, BAS T

info@nbk1560-chn.com.cn

M4
M4
M4
M4
M4
M4
M4
M5
M5
M5
M5
M5
M5
M6
M6
M6
M6
M6
M6
M6
M6

BHRE
(N)
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000

B (9)

15

20
22
23
25
28
33
35
39
50
54
61
60
71
85
114
131
152
182
207

70 mm
IR AR SS
RO R

M4x 10
M4x10
M4 x10
M4 x10
M4x10
M4x10
M4x 10
M5x12
M5x12
M5x12
M5x 12
M5x12
M5x 12
M6x12
M6x12
M6x12
M6x12
M6x 12
M6x12
M6x 12
M6x12

https://www.nbk1560-chn.com.cn/

o MAETIE, ARMMRSIMMERROBR. RT.
o 2 ((UAP-12][UAP-16 5. REMIM R, KR
EESUEEPESIR

o RELEDN4M, AIREESHREFSHITER,

AEFS RELLE

AL AR SRR

BK FRERIUR (L R)
SG ERERIUR (TER)
RD BHERIBUR (TL4L)

® FHEBURN T ZHRMILAE, SHFUFE,
® SEN ¢ R E AN A B A K12 (SUSXMT ). 15
ERIBLIHRIRSS (BRAAIT).

0512-5290-1560

N NBK

info@nbk1560-chn.com.cn

s
p
W 4
ulu “ & : /o
gk |
o BISIETE
UAP-8-55-AL
p—
UAP-8-55-AL-P
\ \ —
R

55

ERBLRHIRS (RASID K, HE-RESKRREM[-P.

https://www.nbk1560-chn.com.cn/



